&AL 4

BB AERE AR

i

e/

1404

—
S
EA L AW BN R

[

—
]
(o}

1N

fo

0
=
s
=
Do

T o 6
gL <ol
;' -
%K%B- ﬁﬁﬂjé e L
g g g B
M g R

A

%

i

WHE = o ..
B e o R R g
R
g M A=

*

i

2= ks | R

FIE 9 1,447
N wHHE 13 3567
/B REILE 8 2,495
F 5% 5 1,520
g2 2 EIEE 6 957
— R R4 =R 4| 1,061
Z5E 4 755
\ iz 2 606
R 2 369
16 =111 53 | 12,777
-7 6414 6 3
- i -
fﬁﬁ =] =& Jure 1
5 i g B /
ML _mg TR
BB i A
2| ~i
{ =
EmE F2 wewm wpkm o smem YLD oz ome sm oms | B0 |ARRE
522 F 639 82 38 83 18 59 3 23 87 102 | 1,032] 1,134
REEHN 221 1,643 352 243 9 28 4 17 12 827 | 2529| 3,356
-l B 29 149 1,404 32 3 1 0 0 4 620 | 1622 | 2242
FNiE 51 76 42 586 103 48 0 5 3 214|  914| 1,128
FWEE 15 30 14 86 518 46 0 2 1 184 712 896
4.2 3003 9 R R4 44 11 4 27 17 778 4 9 31 50 925 975
Tre ®3 2B 4 2 3 0 0 38 522 39 3 30| 611] 641
Tlwmy=¥ E=pe- 16 7 6 4 1 4 6 447 53 22| 544| 566
B e o KR i3 41 4 1 5 1 20 4 15 224 13| 315| 328
TS =3 N
ﬁﬁitfﬁﬁ R | &5t | 1,060] 2004| 1864] 1066| 670 1022 543| 557| 418| 2062 [ 9204 11,266
W
R
[



